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	 1.	cqfu;knh <k¡pkxr ifj;kstukvksa esa lkoZtfud futh lk>snkjh (ih-ih-ih-) dh vko';drk D;ksa gS\ Hkkjr esa jsyos LVs'kuksa 

ds iqufoZdkl esa ih-ih-ih ekWMy dh Hkwfedk dk ijh{k.k dhft;sA� (150 'kCnksa esa mÙkj nhft;s)

 		  Why is Public Private Partnership (PPP) required in infrastructural projects? Examine the role of PPP model 
in the redevelopment of Railway Stations in India. � (Answer in 150 words)

	 2.	D;k ck”kkj vFkZO;oLFkk ds varxZr lekos'kh fodkl laHko gS\ Hkkjr esa vkfFkZd fodkl dh izkfIr ds fy;s foÙkh; 

lekos'k ds egÙo dk mYys[k dhft;sA� (150 'kCnksa esa mÙkj nhft;s)

 		  Is inclusive growth possible under market economy?  State the significance of financial inclusion in achieving 
economic growth in India. � (Answer in 150 words)

	 3.	Hkkjr esa lkoZtfud forj.k iz.kkyh (ih-Mh-,l-) dh izeq[k pqukSfr;k¡ D;k gSa\ bls fdl izdkj izHkkoh rFkk ikjn'khZ cuk;k 

tk ldrk gS\� (150 'kCnksa esa mÙkj nhft;s)

 		  What are the major challenges of Public Distribution System (PDS) in India? How can it be made effective 
and transparent? � (Answer in 150 words)

	 4.	Hkkjr esa [kk| izlaLdj.k m|ksx ds dk;Z{ks=k vkSj egÙo dk lfoLrkj o.kZu dhft;sA� (150 'kCnksa esa mÙkj nhft;s)

 		  Elaborate the scope  and significance of the food processing industry in India.
� (Answer in 150 words)
	 5.	ns'k esa vk;q laHkkfork esa vkbZ o`f¼ ls lekt esa ubZ LokLF; pqukSfr;k¡ [kM+h gks xbZ gSaA ;g ubZ pqukSfr;k¡ dkSu&dkSu lh 

gSa vkSj muds lekèkku gsrq D;k&D;k dne mBk, tkus vko';d gSa\� (150 'kCnksa esa mÙkj nhft;s)

 		  The increase in life expectancy in the country has led to newer health challenges in the community. What 
are those challenges and what steps need to be taken to meet them?� (Answer in 150 words)

	 6.	i`Foh dh lrg ij izfr o"kZ cM+h ek=kk esa ouLifr inkFkZ] lsyqyksl] tek gks tkrk gSA ;g lsyqyksl fdu izkÑfrd 

izfØ;kvksa ls xq”kjrk gS ftlls fd og dkcZu MkbvkWDlkbM] ty rFkk vU; vaR; mRiknksa esa ifjofrZr gks tkrk gS\�

� (150 'kCnksa esa mÙkj nhft;s)

 		  Each year a large amount of plant material, cellulose, is deposited on the surface of Planet Earth. What are 
the natural processes this cellulose undergoes before yielding carbon dioxide, water and other end products? 
� (Answer in 150 words)

	 7.	blds fuekZ.k] izHkko vkSj 'keu dks egÙo nsrs gq, iQksVksdsfedy LekWx dh foLrkjiwoZd ppkZ dhft;sA 1999 ds xksFksucxZ 

izksVksdkWy dks le>kb;sA � (150 'kCnksa esa mÙkj nhft;s)

 		  Discuss in detail the photochemical smog emphasizing its formation, effects and mitigation. Explain the 
1999  Gothenburg protocol. � (Answer in 150 words)

	 8.	Hkkjrh; miegk}hi ds lanHkZ esa ckny iQVus dh fØ;kfofèk vkSj ?kVuk dks le>kb;sA gky ds nks mnkgj.kksa dh ppkZ 

dhft;sA� (150 'kCnksa esa mÙkj nhft;s)

 		  Explain the mechanism and occurrence of cloudburst in the context of the Indian subcontinent. Discuss two 
recent examples.� (Answer in 150 words)

	 9.	laxfBr vijkèkksa ds izdkjksa dh ppkZ dhft;sA jk"Vªh; vkSj varjkZ"Vªh; Lrj ij ekStwn laxfBr vijkèk vkSj vkradokfn;ksa 

ds chp lacaèkksa dk o.kZu dhft;sA� (150 'kCnksa esa mÙkj nhft;s)

 		  Discuss the types of organised crimes. Describe the linkages between terrorists and organised crime that 
exist at the national and transnational levels. � (Answer in 150 words)
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	10.	Hkkjr esa leqnzh lqj{kk pqukSfr;k¡ D;k gSa\ leqnzh lqj{kk esa lqèkkj ds fy;s dh xbZ laxBukRed] rduhdh vkSj izfØ;kRed 

igyksa dh foospuk dhft;sA � (150 'kCnksa esa mÙkj nhft;s)

 		  What are the maritime security challenges in India? Discuss the organisational, technical  and procedural 

initiatives taken to improve the maritime security.� (Answer in 150 words)

	11.	¶gky ds fnuksa dk vkfFkZd fodkl Je mRikndrk esa o`f¼ ds dkj.k laHko gqvk gSA¸ bl dFku dks le>kb;sA ,sls 

lao`f¼ izfr:i dks izLrkfor dhft;s tks Je mRikndrk ls le>kSrk fd;s fcuk vfèkd jks”kxkj mRifÙk esa lgk;d gksA�

� (250 'kCnksa esa mÙkj nhft;s)
 		  ''Economic growth in the recent past has been led by increase in labour productivity.'' Explain this statement. 

Suggest the growth pattern that will lead to creation of more jobs without compromising labour productivity.  
� (Answer in 250 words)

	12.	D;k vkids fopkj esa Hkkjr viuh mQtkZ vko';drk dk 50 izfr'kr Hkkx] o"kZ 2030 rd uohdj.kh; mQtkZ ls izkIr 

dj ysxk\ vius mÙkj ds vkSfpR; dks fl¼ dhft;sA thok'e b±èkuksa ls lfClMh gVkdj mls uohdj.kh; mQtkZ Ïksrksa esa 

yxkuk mi;qZDr mn~ns'; iwfrZ eas fdl izdkj lgk;d gksxk\ le>kb;sA � (250 'kCnksa esa mÙkj nhft;s)

 		  Do you think India will meet 50 percent of its energy needs from renewable energy by 2030? Justify your 
answer. How will the  shift of subsidies from fossil fuels to renewables help achieve the above objective?   
Explain.� (Answer in 250 words)

	13.	Hkkjr esa Ñf"k mRiknksa ds foi.ku dh mQèoZeq[kh vkSj vèkkseq[kh izfØ;k esa eq[; ckèkk,¡ D;k gSa\

� (250 'kCnksa esa mÙkj nhft;s)

 		  What are the main bottlenecks in upstream and downstream process of marketing of agricultural products 
in India?� (Answer in 250 words)

	14.	lesfdr Ñf"k iz.kkyh D;k gS\ Hkkjr esa NksVs vkSj lhekar fdlkuksa ds fy;s ;g dSls ykHknk;d gks ldrh gS\ 	

� (250 'kCnksa esa mÙkj nhft;s)

 		  What is Integrated Farming System? How is it helpful to small and marginal farmers in India?
� (Answer in 250 words)

	15.	25 fnlacj] 2021 dks NksM+k x;k tsEl osc varfj{k VsyhLdksi rHkh ls lekpkjksa esa cuk gqvk gSA mlesa ,slh dkSu&dkSu 

lh vuU; fo'ks"krk,¡ gSa tks mls blls igys ds varfj{k VsyhLdksiksa ls Js"B cukrh gSa\ bl fe'ku ds eq[; è;s; D;k gSa\ 

ekuo tkfr ds fy;s blds D;k laHkkfor ykHk gks ldrs gSa\� (250 'kCnksa esa mÙkj nhft;s)

 		  Launched on 25th December, 2021, James Webb Space Telescope has been much in the news since then. 
What are its unique features which make it superior to its predecessor Space Telescopes? What are the key 
goals of this mission? What potential benefits does it hold for the human race? � (Answer in 250 words)

	16.	oSDlhu fodkl dk vkèkkjHkwr fl¼kar D;k gS\ oSDlhu dSls dk;Z djrs gSa\ dksfoM&19 Vhdksa ds fuekZ.k gsrq Hkkjrh; 

oSDlhu fuekZrkvksa us D;k&D;k i¼fr;k¡ viukbZ gSa\ � (250 'kCnksa esa mÙkj nhft;s)

 		  What is the basic principle behind vaccine development? How do vaccines work? What approaches were 
adopted by the Indian vaccine manufacturers to produce COVID-19 vaccines? � (Answer in 250 words)
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	17.	Xykscy okfe±x (oSf'od rkiu) dh ppkZ dhft;s vkSj oSf'od tyok;q ij blds izHkkoksa dk mYys[k dhft;sA D;ksVks 

izksVksdkWy] 1997 ds vkyksd esa Xykscy okfe±x dk dkj.k cuus okyh xzhugkml xSlksa ds Lrj dks de djus ds fy;s 

fu;a=k.k mik;ksa dks le>kb;sA � (250 'kCnksa esa mÙkj nhft;s)

 		  Discuss global warming and mention its effects on the global climate. Explain the control measures to bring 
down the level of greenhouse gases which cause global warming, in the light of the  Kyoto Protocol, 1997.

� (Answer in 250 words)

	18.	Hkkjr esa rVh; vijnu ds dkj.kksa ,oa izHkkoksa dks le>kb;sA [krjs dk eqdkcyk djus ds fy;s miyCèk rVh; izcaèku 

rduhdsa D;k gSa\  � (250 'kCnksa esa mÙkj nhft;s)

 		  Explain the causes and effects of coastal erosion in India. What are the available coastal management 
techniques for combating the hazard? � (Answer in 250 words)

	19.	lkbcj lqj{kk ds fofHkUu rÙo D;k gSa\ lkbcj lqj{kk dh pqukSfr;ksa dks è;ku esa j[krs gq, leh{kk dhft;s fd Hkkjr us 

fdl gn rd ,d O;kid jk"Vªh; lkbcj lqj{kk j.kuhfr liQyrkiwoZd fodflr dh gSA

� (250 'kCnksa esa mÙkj nhft;s)

 		  What are the different elements of cyber security? Keeping in view the challenges in cyber security, examine 
the extent to which India has successfully developed a comprehensive  National Cyber Security Strategy.

� (Answer in 250 words)

	20.	uDlyokn ,d lkekftd] vkfFkZd vkSj fodklkRed eqn~nk gS tks ,d ¯gld vkarfjd lqj{kk [krjs ds :i esa izdV 

gksrk gSA bl lanHkZ esa mHkjrs gq, eqn~nksa dh ppkZ dhft;s vkSj uDlyokn ds [krjs ls fuiVus dh cgqLrjh; j.kuhfr dk 

lq>ko nhft;sA� (250 'kCnksa esa mÙkj nhft;s)

 		  Naxalism is a social, economic and developmental issue manifesting as a violent internal security threat. 
In this context, discuss the emerging issues and suggest a multilayered strategy to tackle the menace of 
Naxalism.� (Answer in 250 words)


